Warm UP (8min)

Evaluate these

1. 3(x+2) expressions
when:
X=4
2.8x—(2x—4) -3 X=-2
X=0
X= 1

3. Name the subsets of the real numbers to which each

number belongs:

1. —2.3248 2. Ja6
4. Is the following statement true or false? |fthe product of They don't

think it be like
itis, butitdo

three numbers is negative then all the numbers are

negative. If false, give a counterexample.
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Warm UP (8m|n) Evaluate these

expressions

mesm
Sh-GA-9)-3 3
§-H-(2-4-49)-3
841~ (g-4) -3

Evaluate these
expressions
when:




8x-(2x—4)-3
S:0-(2-0-4)-R
80~ (0-4)-3
O -(C4)-3
D--4-3
by
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Name the subsets of the real numberf_ to which each number

belongs:
1. —-2.3248 2. J46
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three numbers is negative tNE@N all the numbers are / \, e' '
negative. If false, give a counterexample. Q \ 2
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Teer 3 negative #'S

F-E0- 4= -8
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Is the following statement true or false? |f the product of
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Ex ponents

Review Adding 6o \ e R 6
343 = K X

Review Mumplylng ¥ -
3-5=

lake S fue Hmes:
S+I+I+I3+ 2= 5

Exgéoie Exponents 8 ‘
mulﬁ‘,oy 3 five times s
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Ex‘ponents

What happens when you multiply two powers with the same base?

wr- 2% 2%2.2:222=222"""

o (,5 I +5)
v gy gy S
x2 xe/—>‘§2.><6:><2+6= Xg

xx.’iﬁx-x-x-x X=X

Ex‘ponents

What happens when you multiply two powers with the same base?

Product of Powers Property TO mulh P\j Powers

Wirh the Same bage
add  their Exponents




Ex‘ponents

What happens when you divide two powers with the same base’?

¢ 2-3-2-2 ~2)
. 22.2 222277

Ex‘ponents

What happens when you divide two powers with the same base?

Quotient of Powers Property TZ)

divide Powers,
With the Sane base .

Subtroct their Exponents.




Ex’ponents

What does a negative exponent mean?

g3 | l

2% T 2.22

Ex‘ponents

What does a negative exponent mean?
Z

gi"s o= XX XXX = X

R use +he
Quotrient Rule

(Z—*B) ) _
X =X =X




Town smrs | EX PONENts
What does a negative exponent mean? N@ﬂ&"’i\/ﬂ e {m:t.s
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Ex'ponents
What does a zero exponent mean?
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Ahd -I’Luné Hhat ¢ raised
Zero Power Property ‘[/0 e ZEen power 15
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What happens when you take the power of a power?

2 _ 2 _(z+2+2+2)_§

(22)‘:< ) ZZZ z Z-—Z =7
(43)(‘4) L{ L= l{(gm . Lf'z

(x5)3: XS-.?)':_ ><l’.)




Ex‘ponents

What happens when you take the power of a power?

To find the Powe ¢ of
& power, YYIUH]PI:S the
CXponents,

Power of a Power Property

Ex‘ponents

What happens when you take the power of a product’?

@s=(2-5)(2-5) = 2°5°= (5" ’5)
2B «§
2-2'5‘5/
25"

(31)?% = (3 X) 3 X= I3




Ex‘ponents

What happens when you take the power of a product?

-,-O Qn& A POwer Og" O\

Power of a Product Property ? rOCJu(;f’, dfs.\,r{\,pd—.e’ 'H"(

exponent to alf the terms
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5) 2n" - 50" 6) 6r-5r

7 2% 6n* 8) 6k - &

9) 5b° . 8b 10) 4x° - 3x







